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Remember	K	H	D	|	d	c	m	(kilo,	hecto,	deka,	(liter,	meter,	gram),	deci,	centi,	milli).	Milliliters	are	three	places	to	the	right	of	liters.	So	you	have	to	move	the	decimal	place	three	times	to	the	right.	You	will	get	4.5	L	=	4,500	mL.	1,000	mL	because	1.2	x	1,000	=	1,200-	200	=	1,000	mL	Oh,	dude,	you're	hitting	me	with	the	math	questions	now?	Alright,	let
me	break	it	down	for	you.	So,	1	liter	is	about	1.33	standard	wine	bottles,	which	means	5	liters	would	be	around	6.65	wine	bottles.	But	since	we	can't	have	a	fraction	of	a	bottle,	let's	just	round	it	up	to	7	bottles.	So,	5	liters	is	roughly	equal	to	7	standard	750ml	wine	bottles.	To	convert	grams	to	milliliters,	you	need	to	know	the	density	of	the	substance.
The	formula	to	convert	grams	to	milliliters	is:	mass	(g)	=	volume	(mL)	x	density	(g/mL).	Therefore,	you	would	need	to	know	the	density	of	the	substance	(in	g/mL)	in	order	to	convert	0.375g	to	mL.	Oh,	dude,	you're	really	testing	my	math	skills	here.	So,	like,	there	are	1,000	milliliters	in	a	liter,	right?	So,	if	you	have	4.5	liters,	you	just	gotta	multiply	that
by	1,000	and	you	get	4,500	milliliters.	Easy	peasy	lemon	squeezy!	There	is	no	conversion	factor	for	thisCm	-	or	centimeters	is	a	LENGTH.	-That	means	the	physical	distance	between	the	start	and	end	of	some	kind	of	linear	object.Millilitres	is	VOLUME-	a	measure	of	content	or	capacity,	usually	expressed	in	units	that	are	the	cubes	of	linear	units,	or	in
simpler	terms,	what	fits	in	a	certain	space.There	is	no	similarity	between	LENGTH	and	VOLUME.	They	CAN	NOT	be	'converted'	to	each	other.	To	add	3.5	liters	to	750	milliliters,	you	first	need	to	convert	3.5	liters	to	milliliters	since	they	are	both	units	of	volume:	1	liter	is	equal	to	1000	milliliters.	So,	3.5	liters	is	equal	to	3.5	*	1000	=	3500	milliliters.
Now,	you	can	add	3500	milliliters	to	750	milliliters:	3500	milliliters	+	750	milliliters	=	4250	milliliters.	So,	3.5	liters	plus	750	milliliters	is	equal	to	4250	milliliters.	There	are	1,250	milliliters	in	1.25	liters.	This	conversion	is	based	on	the	fact	that	1	liter	is	equal	to	1,000	milliliters.	Therefore,	to	convert	liters	to	milliliters,	you	simply	multiply	the	number
of	liters	by	1,000.	In	this	case,	1.25	liters	multiplied	by	1,000	equals	1,250	milliliters.


